H.W. #15 EE 220 Fall 2019

Show your work for credit!

Hand calculate Vc and Vr in the following circuit. Compare your hand calculations to simulation

results. Note that the switch closes at 200 ns. Make sure you understand how to use switches
since we’ll use them often. (4 points)
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2. Write the equation describing the voltage across the capcitor in the following circuit. Use
LTspice to verify your answer. (3 points)
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Note that the capacitor is discharged.

Vcontrol

3. Write the equations describing the voltage across the capacitor, Ve, in the following circuit

for both the rising and falling edges of the input pulse. Again, use LTspice to verify your
answer. (3 points)
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